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Perimeters and Areas of Rectangles
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Perimeter

The perimeter of a figure is the sum of the
lengths of its sides. Opposite sides of a rec-
tangle are equal. To find the perimeter, add the

Area

The area of a figure is the number of square
units needed to cover the figure. To find the
area of a rectangle, multiply the length (€) and

2 lengths (€) and the 2 widths (w).

P=£f+€+w+worP =20+ 2w

the width (w).
A=4L€Xw

Find the perimeter. Find the area.

C wE9cm wism
¢ ¢
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14 cm
A=L€Xw
=2¢ + 2w =6X5
= 2(14) + 2(9) =30
=28 + 18 =46

The area is 30 square meters.

The perimeter is 46 centimeters.

Estimate the area of each figure. Each square represents 1 square inch.

1.

2, I 3.

Find the perimeter and area of each rectangle or square.

4, {=12cm,w =2cm 5 £=9ft,w=75ft

6. {=25mw=25m 7. € =55in.,w = 5.5 in.

8. ¢£{=62in,w =341in. 9. £ =451ft,w=0751t

10. What is the area of a square with a perimeter of 60 meters?
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Parallelogram

To find the area of a parallelogram, multiply
base times height.

A=bXh

Find the area of the parallelogram.

h=6cm
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[1/_
b=3cm

A =bXh
=3X6

The area is 18 square centimeters.

Date

Areas of Parallelograms and Triangles

Triangle

The area of a triangle is % times the base times
the height.
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Find the area of the triangle.
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b=3cm

A=3ixbxn
1
=1x3x6
=9

The area is 9 square centimeters.

Find the area of each parallelogram.

1. b=61t,h =81t 2. b=12in,h =9in. 3.
4, b =28in.,h =34in. 5. b=31yd,h=19yd 6.
7. b=15cm,h =7 cm 8. b=383fth=117ft 9.
Find the area of each triangle.
10. b =8cm,h =14 cm 1. b="7in,h = 18 in. 12.
13. b=641t,h =351t 14. b =104in.,h = 55in. 15.
6. b=17m,h=33m 17. b=58yd,h=58yd 18.
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=6yd,h=12yd

b=45mh=45m

b=144m,h=65m

b=11mh=46m

b=59cm,h =42cm

b=28.6in.,h=0.8Iin.
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